C-31
NTOT=1.60E 18 DEBYE=1.17E-06 LAMBDA=6.45E Cl1 LNLMBD= 4.17

N1=7.97880F 17 N2=3.04488E 16 N3=7.36549E 17 N4=3.06651E 16 N5=6.16915E 11

P= 5.00C T= 230CQ.
B CLM-TAL SI1G-1
0. O.COE-O]- 1-"3E
5C0. =3.6CE-C3 1.43E
1600. =-7.21E-C3 1l.43E
2500. =-1.8CE-C2 1l.42E
ECC0. =-3.60E-02 1l.42E
7500 =5.41E-C2 1.41E
100C0. =-7.21E-C2 1.40E
ZEOCO. -I-SOE—CI 1.28E
500CC. =3.60E-01 9.97E
1€00C0. =-7.21E-01 5.59E
150000. -1.C8E CC 3.38E
P= 5.0C0 T= 24CC0.
B CrM=-TAL SIG-1
00 0-CCE'01 1.44E
500. =3.7CE-03 1l.44E
1000. -70405'03 10445
2500' -I-ESE-CZ 1.‘0"E
50C0. =3.7CE-C2 1l.44E
-7500. =5.585E-C2 1.43E
10000. =T.40E-02 1l.41E
25000, =-1l.€S5E-Cl 1.29F
50000. =-3.7CE-C1 9.87E
1C0CC0. =-7.4CE-C1 5.43E
150000. =-1.11FE CC 2.26E
F= 5.000 T= 25000.
B CM=-TAU SIG-1
Qe OQCCE“'CI 1l.44E
500, =3.7ZE-C3 1l.44E
1000, =7.43E-C3 1.44E
2500. =-1.86E-C2 1.44E
5000. =-3.72E-02 1l.43E
75C0. =5.S5S7E-C2 1l.42E
10000. =T7.42E-C2 1l.41E
ZEOCOu -I.BCE-CI 1-28E
500CC. =-3.72E-C1 9.75E
160000. ~=7.43E-01 5.33E
150000. =-1.11E €O 3.20E
P= 5.C0C T= 2¢€0CC.
B OM-TAU SIG-1
O 0-00E°01 1.43E
500. =-3.66E-03 1.43E
16€0. =-T7.33E-03 1l.42E
2500, =-1.83E-C2 1.42E
5000. =3.66E-C2 1.42E
75C0. =5.5CE-C2 1.41E
10000. =-7.33E-C2 1.40E
25000, =-1.83E-Cl 1.26E
500000 -3066E‘01 9'64E
1000C0. =7.33E-C1 5.29E
1500CC. =-1.1CE CO 3.18E

0z
02
02z
02
0z
0z
02
02
01
01
01

02z
02
02
0¢
02
02
02
02
01
01
01

0z
02

SIG-2
n.00E-01
9.36E-01
1.87E 00
4.67E 00
9.31E 00
1.39E 21
1.83E 01
4.15E 01
6.,27E 01
6.59E 01
5.,66E 01

SIG-2
0.00E-01
9.83E-01
1.97E 00
4.91E 00
9.77€ €0
l.46E 01
1.92E 01
4.32E 01
6.42E 01
6.60E 01
5.62E 01

SIG-2
0.00E-01
9.99E-01
2.00E 00
4.99€E 00
9.94E 00
1.48E 01
1.5 01
4.37E 01
6.44F 01
6.55E 01
5.56E 01

SIG-2
0.00E-01
9.91E-01
1.98E 00
4.,95E 00
9.85E 00
1.47€ 01
1.94E C1
4.,32E 01
6.35E 01
6.47E 01
5.49E C1

DT-1
1.06E-06
1.06E-06
1.05E-06
1.05E-06
1.05E-06
1. O‘fE-Ob
1.02E-06
8. 60E-07
5. 14E-07
1.09E-07

-1.48E-08

DT-1
1.13E-06
l.13E-06
1.13E-06
1.13E-06
1.12E-06
1.11E-06
1.09E-06
9.06E-07
5.22E-07
9.99E-08

-2.25E-08

DT-1
1.20E-06
1. ZOE-Ob
1.20E-06
1.20E-06
1.19E-06
1.17E-06
1. 155-06
9.51E-07
5.36E-07
9.69E-08

-2.66E'08

DT=-1
1.26E"06
1.26E-06
1. 26E-06
1.26E-06
1.25E"06
1.23E-06
1.21E-06
9.96E~07
5.56E-07
1. 00E-07

-2.T6E-08

DT-2
0.00E-01
1.06E-08
2.12E-08
5.28E-08
1.05E-07
1.56E-07
2.06E-0Q7
4a ‘09E"07
6. 06E-07
4.85E-07
3+33E~07

DT-2
0.00E-01
1.18E-08
2.37E-08
5.90E-08
1.17E~-07
1. T4E-07
2.30E-Q7
4.95E-C7
6.50E-07
5.03E-07
3.41E-07

DT-2
0.00E-01
1.29E-08
2.57E=08
6.42E=08
1.28E=07
1.90E-07
2.49E=07
5.33E-07
6.89E-07
5.23E-07
3.52E-07

DT-2
0.00E-01
1.37E-08
2.T74E-08
6.83E-08
1.36E-07
2.65E-07
5.64E-07
7.23E-07
3.,67TE-OT

LAM-1

4.1TE
4.16E
4.16E
4.16E
4 .15E
4.14E
4.12E
3 .89E
3.26E
2.08E
1.40E

NTOT=1.53F 18 DEBYE=1.21E-06 LAMBDA=6,95E 01

LAM-1

4.4TE
4.47TE
4.4TE
4 .46E
4 .45E
4.43&
4.41E
4 .14E
3.41E
2.12E
1.42E

NTOT=1.47E 18 DEBYE=1.24E-06 LAMBDA=7.44E 01

LAM=1

4 .T5E
4.75E
4.75¢E
4.T4E
4. T3E
4.T1lE
4 .68E
4.37E
3 .56E
2.17E
1.44E

NTOT=1.41F 18 DEBYE=1.27E-06 LAMBDA=7.92E 01

LAM-1

5.01E
5.01E
5.01E
5.01E
4,99k
4,.,97E
4.94E
4.59E
3.71E
2.23E
1.48E

LAM=2
0.00E-01
2.15E-01
1.07€ 00
2.14E 00
3.20E 00
4.24F Q0
9.93E 00O
1.63F 01
1:91€ 01 .
1.74% 01

LNLMBD= 4.24&
N1=7.80822E 17 N2=2.172C0F 16 N3=6.72219E 17 N4=5.42975E 16 N5=2.82295E 12

ol
01

LAM-2
0.,00E-QOL
2.435-01
4.86E-01
1.21E 00
2.42E 00
2,61 0OC
4.79E 00
1.11E 01
1.79E 01
2.04E 01
1.83E 01

LNLMBD= 4,31
N1=7.70149E 17 N2=1.56872E 16 N3=5.93986E 17 N4=8.80652E 16 N5=1.09627E 13

01
ol

LAM=-2
N.00E-01
2.69E-01
5.37€E-01
1.34E 00
2.68E 00
4.00E 00
5.29E 00
1.22E 01
1.94E 01
2.15E 01
1.91E 01

LNLMBD= 4,37
N1=7.65371E 17 N2=1.12666F 16 N3=5.04275E 17 N4=1.30494E 17 N5=3.63087E 13

LAM-2
OQOOE-OI
2.92E-01
5.84E-01
1.46E 00
2.91E 00
4.34E 00
5.74E 00
1.32F 01
2.07E 01
2.26E 01
1.99E 01




P= 10.000 T=

C-32
NTOT=2.45E 1S DEBYE=8.90E-02 LAMBDA=6.39E 05 LNLMBD=13,37

N1=1.80331F C7 N2=2.4465CE 19 N3=1.80331E 07 N

B
0.
5CQ0.
1000.
25C0.
5000.
75C0.
100C0.
25000.
500CQ0.
1C00CO0.
150000.

P= 10.000 T=
N1=4,02563E 1C

B
0.
500.
1000.
2500.
£C0C0.
75C0.
10000.
25000.
50000.
100000.
150000.

P= 10.000 T=
N1=4.17296E 12

B
0.
500.
1000.
2500.
50C0.
7500.
10000.
25000.
50000.
1¢C0CC.
150000.

P= 10.000 7=
N1=S.30964E 12

B
C.
500.
1000.
2500.
5000.
75C0.
10000.
25000.
50000.
1C€0000.
1500CQ.

e
3200C.
CM-TAUL S1G-1
O-OOE_OI 10895-07
=1.C7E-01 1.42E-07
-2.14E-C1 1.00E-07
=5+36E=0 4423E-08
-1.,07E GO 1.77E-0Q8
-l1.61€ C0O 1.C7E-C8
-2.14E CO 7.33E-09
‘5-36E CO 1.75E-09
-1.C7E C1 4.97E-10
=2+14E 01 1.32E-10
=3 y218"01 1 5.92E<11
4000.

CM-TAU SIG~-1
0.0CE-C1 4.02E-04
-8.,32E-02 <2.T7E-Q4
-1.66E-01 2.01E-04
-4.16E-Cl S.38E-05
-8.32E-01 4.04E-05
=1.25E €0 2.50E-05
-1.66E 00 1.77E-05
-4.,16E CO 4.73E-C6
-8.32E CO 1.40E-06
-1.66E C1 3.75E-07
-2.49F 01 1.70E-07

5000.
N2=1.46790E

CM-TAU SIG-1
0.C0E-C1 3.63E-J2
-6+91E=-02 sseE=02
-1.38E-01 10835_02
-3.45E-01 9.89E-03
-6.51E-01 4.45E-03
-1.04E 00 2.74E-03
-1.38E 00 1.96E-02
-3.45E 00 5.59E-04
-6.51E 00 1.70E-04
-1.38E Cl1 4.63E-05
-2.07E 01 2.11E-05
6000.

GM-TAU SIG-1

C.CCE-C1l 4.82E-01
-5.,86E-02 4.31E-01
-1.17E-01 3.24E-01
-2.S3E-01 2.2CE-01
-5.86E-01 1.12E-01
-8.79E-01 6.93E-02
-1011E co 4088E'°2
-2.53E CO0 1.41E-02
-5.86E 00 4.38E-03
-1.17€E 01 1.21E-02
=1.T6E C1 5.52E-04%

S16-2
0.00E-01
7.29E-08
8.16E-08
6.07€-08
3.97E-08
2.95E-08
2.37E-08
1.09€-C8
5.67TE-09
2.87E-09
1.92E-09

SIG-2
0.00E-01
1.59E-C4
1.59E-04
1.19&‘04
8.10E-05
6.08E-05
4.92E-05
2.37E-05
1.25E-05
6.40&'06
4.28E-06

SIG-2
0.00E-0O1
1.38E-02
1.40E-02
1.04E-02
T«T4E-03
5.92E-03
4.83E-03
2+39E-03
1.29E-03
6.61E-04
4.43E-04

SIG-2
0.00E-O01
1.,28E-01
1.84E-01
1.66E-01
1.51E-01
1.23E-01
1.026-01
5.21E-02
2.85E-02
1.47E-02
S.88E-03

DY=1
-2.88E-16
=1.92E-16
=1 12E=~16
-245TE-1T

5.77€E-18
9.90E-18
9.37E-18
3.55E-18
1.22E-18
3.545-19
1.63E-19

NZ2=1.E3487E 19 N3=4.02563E 10 N

0DT=1
-9.61E-13
-5.67TE-13
-3.30E-13
=1leB1E=13
2.719E-15
2.27E-14
2.53E-14
1.18E-14
4.265-15
1.28E-15
5.98E-16

0T7=1
-l1.13E-10
-6.,88E-11
=3 .85E=11
~1l.5TE=11
=1.6FE=12
1, TTE-12
2.63E-12
1.58E-12
6.03E-13
1.89E-13
8.91E-14

N2=1.22323E 1S N3=6.30964E 13 N

DT-1
-1.37E-09
-1.22E-09
-T7.77E-10
_4046E-10
-10165-10
-8.99E-13

3,96E~11
4.02E-11
1.67E-11
5.44E-12
2.61E-12

PT=2
0.00E-01
- 38E-16
-9042E-16
-842TE=17
-4.40E-17
-2.54E-17
=1.59E-17
-2460E=18
~5.21E~19
=~8sE3E=20
-2.53E-20

DT-2

0.00E-01
-4.62E~-13
-4.26E-13
=2+35E=13
~1+38E~13
-SOSOE-14
-5.56E~14
-9,93E~15
=2,10E=15
-3.49E-16
-1 <11E-L6

DT-2

0.00E-01
=5.2&E=11
=-5.00E-11
=24 65E=~11
-1076E-11
=1+15E=~11
= T82E=12
-1.53E-l2
-3.38E-13
-5.91E-14
-1092E-14

DT-2
0.00E-C1
-4.31E-10
-6.48E-10
-4'96E-10

-4,14E-10
-2.96E-10
=2+ 12E=10
-4.66E-11
-1.07E-11
-1,956-12
-6.43E-13

LAM-1
2 +98E-09
2.T1E-09

2.+3CE-09
1.60E-29

1 323E=09
8.97E~10
6065E-10
2004E_10
7 «36E<11
2 «21E+11
1a02E=1]

LAM=-1
7.87E-06
7.09E-06
6,05E-06
4.10E-06
3.35E-06
2.60E-06
2.00E=-06
6.46E-07
2..44E-07
7.72E-08
3.65E-08

LAM-1
8.18E-04
8.03E-04
7009E‘0“
4 .64E~-04
3.97E-04
3.22E-04
2.57E-04
8.82E-05
3.41E-05
1«1i3t=05
5.43E-06

LAM-1
1 37 E=02
1186202
1.22E-02
1.06E‘02
9.48E-03
8.06E-03
6.7T1E-03
2.52E-03
9.91E-04
3.37E-04
1.64E-04

LAM=-2
0.00E-01
6.51E-10
9.19E“10
1.04F-09
9.63E~-10
8.67E-10
8.175-10
4.92E-10
2.88E-10
1.55E-10
1.06E-10

NTOT=1.83E 1S DEBYE=2.18E-03 LAMBDA=2.08E 04 LNLMBD= 9.94

LAM-2
0.00E-01
1.69E-06
2.36E-06
2 «65E-06
2.47E-06
2.26E-06
2.10F=-06
1.38E-06
8.25E'07
4.55E~-07
3.12E-07

NTGT=1.47E 1S DEBYE=2.39E-04 LAMBDA=2.86E 03 LNLMBD= 7.96
1S N3=4,1729€E 12 N

LAM-2
0.00E-01
2+ 3TE=05
2.37E-C4
2-94&‘04
2.82E~04
2062E’°4
2.35E-04
l.69E~-04
1.03E-04
5.81E-05
4.,01E-C5

NTOT=1.22E 19 DEBYE=5.54E-05 LAMBDA=7.96E 02 LNLMBD= 6.68

LAM=2
0.00E-01
4 46E=-04
7.91E-04
3.11E-03
,76E-03
5.83E-03
5.,21E-03
4.23E-03
2 +68E-03
1.53E-03
1.06E-03




